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Claire walks 42 steps 

and Harriet walks 16 

steps. How many 

steps do they both 

take? 

 

Jasmine has 40 toy 

marbles. She gives 

away 20 marbles. 

How much marbles 

are left? 

 

Lizzie has a book 

which is 42 pages 

long. She reads 16 

pages. How many 

pages do she still 

have to read? 

 

A can of drink costs 

40 coins and sweets 

cost 20 coins. How 

much do they both 

cost? 
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1. Mr Gepetto’s house has 16 windows. His workshop has 32 windows. How 

many windows are there altogether? 

2. Anna had 38 coins. She used 17 coins to buy a toy car. How many coins does 

she have now? 

3. Mr Geppetto has been making toy figures. He has made 65 in total. He then 

sells 32 of the figures. How many figures does he still have? 

4. Ellie baked a cake. She added 40 g of flour. Then she added 25 g more. How 

much flour is there now? 

5. It takes Garfield the cat 32 steps to get from his food bowl to his bed. He 

stops to wash his paw after 5 steps. How many steps does he have left to take?  

6. Beckie has 38 dresses in her wardrobe. She buys 8 more dresses. How many 

does she have altogether? 


